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#### Biost 517: Applied Biostatistics I

#### Emerson, Fall 2012
#### Annotated Stata Log File: Homework #4
#### October 28, 2012
#### In this file I give the Stata commands I used to produce
#### the key to Homework #4. In order to properly format

#### a table useful to casual readers, I cut and pasted some

#### of the output into Excel.

#### Comments edited into the log file produced by Stata are

#### on the lines that start with the four ‘#’ signs and are

#### printed in italics.
#### The Stata commands are put in bold face.
#### Stata output is displayed in regular typeface in blue.
#### Start a log file to record commands and output
----------------------------------------------------------------------------------------------------------------

      name:  <unnamed>

       log:  z:documents/teach/courses/b517/f12/hw4Stata.log

  log type:  text

 opened on:  29 Oct 2012, 06:29:49

#### Read in data: The insheet command could be used with a “.csv” file. “quietly” avoided

#### Stata printing output about missing data

. cd z:documents/teach/datasets

Z:\documents\teach\datasets

. infile case id str9 sex str9 deg yrdeg str9 field startyr year str9 rank admin salary using salary.txt

'case' cannot be read as a number for case[1]

'id' cannot be read as a number for id[1]

'yrdeg' cannot be read as a number for yrdeg[1]

'startyr' cannot be read as a number for startyr[1]

'year' cannot be read as a number for year[1]

'admin' cannot be read as a number for admin[1]

'salary' cannot be read as a number for salary[1]

(19793 observations read)

#### Drop the case that is all missing due to column headings

. drop in 1

(1 observation deleted)

#### Generate variables measuring time to promotion

. egen grbg= min(year) if rank=="Assoc", by(id)

(13263 missing values generated)

. egen fstAssoc= mean(grbg), by(id)

(5597 missing values generated)

. replace fstAssoc=. if fstAssoc==76 | fstAssoc==startyr

(5638 real changes made, 5638 to missing)

. drop grbg

. egen grbg=min(year) if rank=="Full", by(id)

(10581 missing values generated)

. egen fstFull= mean(grbg), by(id)

(6278 missing values generated)

. g promoted= 0

. replace promoted= 1 if fstAssoc!=. & fstFull!=.

(4870 real changes made)

. replace promoted= . if fstAssoc==.

(11235 real changes made, 11235 to missing)

. g ttofull= fstFull - fstAssoc

(14922 missing values generated)

. replace ttofull= 95 - fstAssoc if fstAssoc!=. & fstFull==.

(3687 real changes made)

#### Set variables to missing if not 1995 (then I will not have to do subsetting on

#### my survival analyses

. replace ttofull=. if year!=95

(7950 real changes made, 7950 to missing)

. replace promoted=. if year!=95

(7950 real changes made, 7950 to missing)

#### Define the survival variable for Stata

#### (Note that the “PROBABLE ERROR” warning can be ignored: We purposely set a large

#### amount of missing data (we could have just dropped all those cases from the data

#### set) and the fact that some professors were promoted to associate in 1995 and thus

#### have no time of observation for further promotion does not surprise or concern us.

. stset ttofull promoted

     failure event:  promoted != 0 & promoted < .

obs. time interval:  (0, ttofull]

 exit on or before:  failure

------------------------------------------------------------------------------

    19792  total obs.

    19185  event time missing (ttofull>=.)                      PROBABLE ERROR

       39  obs. end on or before enter()

------------------------------------------------------------------------------

      568  obs. remaining, representing

      291  failures in single record/single failure data

     3569  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =        18

#### Descriptive statistics for 1995

. tabstat yrdeg startyr salary if year==95, stat(n mean sd min q max) col(stat) by(sex) long

sex           variable |         N      mean        sd       min       p25       p50       p75       max

F                yrdeg |       409  81.10758  8.700246        54        74        82        89        95

               startyr |       409  85.47433  8.020498        57        80        88        92        95

                salary |       409  5396.908  1481.218      3042      4292      5016      6135     11036

M                yrdeg |      1188  74.36869   9.64328        48        67        73        82        96

               startyr |      1188  79.61532  10.16681        48        71        80        89        95

                salary |      1188   6731.64  2089.757  3130.588      5088      6313      7935     14464

Total            yrdeg |      1597  76.09455  9.857465        48        69        76        84        96

               startyr |      1597  81.11584  9.993217        48        73        83        90        95

                salary |      1597  6389.808  2036.773      3042      4743      5962      7602     14464

. tabulate field sex if year==95, row col cell

+-------------------+

| Key               |

|     frequency     |

|  row percentage   |

| column percentage |

|  cell percentage  |

           |          sex

     field |         F          M |     Total

      Arts |        80        140 |       220 

           |     36.36      63.64 |    100.00 

           |     19.56      11.78 |     13.78 

           |      5.01       8.77 |     13.78 

     Other |       287        780 |     1,067 

           |     26.90      73.10 |    100.00 

           |     70.17      65.66 |     66.81 

           |     17.97      48.84 |     66.81 

      Prof |        42        268 |       310 

           |     13.55      86.45 |    100.00 

           |     10.27      22.56 |     19.41 

           |      2.63      16.78 |     19.41 

     Total |       409      1,188 |     1,597 

           |     25.61      74.39 |    100.00 

           |    100.00     100.00 |    100.00 

           |     25.61      74.39 |    100.00 

. tabulate rank sex if year==95, row col cell

+-------------------+

| Key               |

|     frequency     |

|  row percentage   |

| column percentage |

|  cell percentage  |

           |          sex

      rank |         F          M |     Total

    Assist |       145        170 |       315 

           |     46.03      53.97 |    100.00 

           |     35.45      14.31 |     19.72 

           |      9.08      10.64 |     19.72 

     Assoc |       138        299 |       437 

           |     31.58      68.42 |    100.00 

           |     33.74      25.17 |     27.36 

           |      8.64      18.72 |     27.36 

      Full |       126        719 |       845 

           |     14.91      85.09 |    100.00 

           |     30.81      60.52 |     52.91 

           |      7.89      45.02 |     52.91 

     Total |       409      1,188 |     1,597 

           |     25.61      74.39 |    100.00 

           |    100.00     100.00 |    100.00 

           |     25.61      74.39 |    100.00 

#### Descriptive statistics for probability of remaining unpromoted: entire sample

. sts list

         failure _d:  promoted

   analysis time _t:  ttofull

           Beg.          Net            Survivor      Std.

  Time    Total   Fail   Lost           Function     Error     [95% Conf. Int.]

     1      568      0     34             1.0000         .          .         .

     2      534      3     31             0.9944    0.0032     0.9827    0.9982

     3      500     24     31             0.9467    0.0100     0.9232    0.9631

     4      445     51     32             0.8382    0.0168     0.8021    0.8682

     5      362     59     27             0.7016    0.0215     0.6571    0.7414

     6      276     50     15             0.5745    0.0240     0.5260    0.6199

     7      211     39     14             0.4683    0.0249     0.4189    0.5161

     8      158     21     17             0.4060    0.0250     0.3569    0.4546

     9      120     11      9             0.3688    0.0251     0.3198    0.4178

    10      100      9      9             0.3356    0.0252     0.2868    0.3851

    11       82      8      9             0.3029    0.0252     0.2543    0.3528

    12       65      2     12             0.2936    0.0253     0.2449    0.3437

    13       51      9      5             0.2418    0.0261     0.1925    0.2942

    14       37      2      5             0.2287    0.0262     0.1794    0.2817

    15       30      0      9             0.2287    0.0262     0.1794    0.2817

    16       21      2     13             0.2069    0.0279     0.1552    0.2639

    17        6      1      2             0.1724    0.0391     0.1039    0.2554

    18        3      0      3             0.1724    0.0391     0.1039    0.2554

. stci , rmean

         failure _d:  promoted

   analysis time _t:  ttofull

             |    no. of  restricted

             |  subjects        mean      Std. Err.    [95% Conf. Interval]

       total |       568    9.308889(*)   .2751578      8.76959    9.84819

(*) largest observed analysis time is censored, mean is underestimated

#### Descriptive statistics for probability of remaining unpromoted: by sex

. sts list, by(sex) at(4 5 6)

         failure _d:  promoted

   analysis time _t:  ttofull

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

F 

       4       125        8              0.9394    0.0209     0.8821    0.9693

       5       107       14              0.8165    0.0356     0.7342    0.8754

       6        83       15              0.6689    0.0452     0.5719    0.7487

M 

       4       320       70              0.7997    0.0214     0.7537    0.8381

       5       255       45              0.6586    0.0260     0.6049    0.7068

       6       193       35              0.5392    0.0281     0.4826    0.5923

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. stci , p(25) by(sex)

         failure _d:  promoted

   analysis time _t:  ttofull

             |    no. of 

sex          |  subjects         25%     Std. Err.     [95% Conf. Interval]

           F |       170           6      .3060421            5          6

           M |       398           5      .1912012            5          5

       total |       568           5      .1631519            5          5

. stci, p(50) by(sex)

         failure _d:  promoted

   analysis time _t:  ttofull

             |    no. of 

sex          |  subjects         50%     Std. Err.     [95% Conf. Interval]

           F |       170           8      .4114364            7          9

           M |       398           7      .2724097            6          8

       total |       568           7      .2951147            7          8

. stci, p(75) by(sex)

         failure _d:  promoted

   analysis time _t:  ttofull

             |    no. of 

sex          |  subjects         75%     Std. Err.     [95% Conf. Interval]

           F |       170          13             .           10          .

           M |       398          13      1.348931           11          .

       total |       568          13      1.198834           12          .

. stci, rmean by(sex)

         failure _d:  promoted

   analysis time _t:  ttofull

             |    no. of  restricted

sex          |  subjects        mean      Std. Err.    [95% Conf. Interval]

           F |       170    9.445436(*)    .447072      8.56919    10.3217

           M |       398    9.080611(*)   .3198908      8.45364    9.70759

       total |       568    9.308889(*)   .2751578      8.76959    9.84819

(*) largest observed analysis time is censored, mean is underestimated

. sts graph, by(sex) plot1opts(lcol(pink) lp(solid)) plot2opts(lcol(blue) lp(dash)) risktable

         failure _d:  promoted

   analysis time _t:  ttofull

#### Descriptive statistics for probability of remaining unpromoted: by field

. sts graph, by(field) plot1opts(lcol(black) lp(solid)) plot2opts(lcol(blue) lp(dash)) plot3opts(lcol(gr

> een) lp(dot)) risktable

         failure _d:  promoted

   analysis time _t:  ttofull

. sts list, by(field) at(4 5 6)

         failure _d:  promoted

   analysis time _t:  ttofull

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

Arts 

       4        81        9              0.8948    0.0332     0.8075    0.9439

       5        70        4              0.8437    0.0400     0.7457    0.9062

       6        58        9              0.7128    0.0524     0.5955    0.8016

Other 

       4       278       49              0.8402    0.0210     0.7940    0.8768

       5       225       41              0.6871    0.0276     0.6294    0.7376

       6       171       28              0.5746    0.0302     0.5131    0.6312

Prof 

       4        86       20              0.7789    0.0437     0.6786    0.8513

       5        67       14              0.6162    0.0519     0.5062    0.7086

       6        47       13              0.4457    0.0550     0.3363    0.5493

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. stci , p(25) by(field)

         failure _d:  promoted

   analysis time _t:  ttofull

             |    no. of 

field        |  subjects         25%     Std. Err.     [95% Conf. Interval]

        Arts |        95           6        .44225            5          7

       Other |       363           5      .1803098            5          5

        Prof |       110           5      .3043367            4          5

       total |       568           5      .1631519            5          5

. stci , p(50) by(field)

         failure _d:  promoted

   analysis time _t:  ttofull

             |    no. of 

field        |  subjects         50%     Std. Err.     [95% Conf. Interval]

        Arts |        95           9      .5782432            7         12

       Other |       363           7      .3494671            7          8

        Prof |       110           6      .3226455            6          7

       total |       568           7      .2951147            7          8

. stci , p(75) by(field)

         failure _d:  promoted

   analysis time _t:  ttofull

             |    no. of 

field        |  subjects         75%     Std. Err.     [95% Conf. Interval]

        Arts |        95          17             .           12          .

       Other |       363          13      1.235356           12          .

        Prof |       110          10      1.427904            7          .

       total |       568          13      1.198834           12          .

. stci, rmean by(field)

         failure _d:  promoted

   analysis time _t:  ttofull

             |    no. of  restricted

field        |  subjects        mean      Std. Err.    [95% Conf. Interval]

        Arts |        95    10.63413(*)   .6602724      9.34002    11.9282

       Other |       363    9.330239(*)    .348929      8.64635    10.0141

        Prof |       110    7.772745(*)   .4939738      6.80457    8.74092

       total |       568    9.308889(*)   .2751578      8.76959    9.84819

(*) largest observed analysis time is censored, mean is underestimated

#### Descriptive statistics for probability of remaining unpromoted: by sex and field

. sts graph, by(sex field) plot1opts(lcol(black) lp(solid)) plot2opts(lcol(blue) lp(solid)) plot3opts(lc

> ol(green) lp(solid)) plot4opts(lcol(black) lp(dash)) plot5opts(lcol(blue) lp(dash)) plot6opts(lcol(gre

> en) lp(dash)) risktable

         failure _d:  promoted

   analysis time _t:  ttofull

. sts list, by(sex field) at(4 5 6)

         failure _d:  promoted

   analysis time _t:  ttofull

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

F Arts 

       4        31        3              0.9095    0.0500     0.7444    0.9700

       5        26        2              0.8395    0.0662     0.6548    0.9303

       6        20        5              0.6297    0.0953     0.4155    0.7837

F Other 

       4        83        5              0.9420    0.0252     0.8660    0.9755

       5        70       11              0.7940    0.0462     0.6852    0.8687

       6        54        9              0.6616    0.0557     0.5402    0.7580

F Prof 

       4        12        0              1.0000         .          .         .

       5        11        1              0.9091    0.0867     0.5081    0.9867

       6         9        1              0.8081    0.1225     0.4235    0.9485

M Arts 

       4        50        6              0.8859    0.0439     0.7635    0.9471

       5        44        2              0.8457    0.0503     0.7147    0.9197

       6        38        4              0.7566    0.0616     0.6100    0.8544

M Other 

       4       195       44              0.7980    0.0272     0.7382    0.8456

       5       155       30              0.6436    0.0335     0.5737    0.7050

       6       117       19              0.5391    0.0356     0.4667    0.6059

M Prof 

       4        75       20              0.7478    0.0488     0.6368    0.8293

       5        56       13              0.5742    0.0564     0.4561    0.6757

       6        38       12              0.3929    0.0580     0.2799    0.5039

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. stci , p(25) by(sex field)

         failure _d:  promoted

   analysis time _t:  ttofull

sex          |    no. of 

field        |  subjects         25%     Std. Err.     [95% Conf. Interval]

      F Arts |        39           6      .4538846            4          7

     F Other |       117           6      .3972818            5          7

      F Prof |        14           7       1.29785            5          .

      M Arts |        56           7      .8568422            5          9

     M Other |       246           5      .2467044            4          5

      M Prof |        96           4      .2592611            4          5

       total |       568           5      .1631519            5          5

. stci , p(50) by(sex field)

         failure _d:  promoted

   analysis time _t:  ttofull

sex          |    no. of 

field        |  subjects         50%     Std. Err.     [95% Conf. Interval]

      F Arts |        39           7      .5671286            6          9

     F Other |       117           8      .4582484            7          9

      F Prof |        14           .             .            6          .

      M Arts |        56          10      1.443698            8         17

     M Other |       246           7       .365377            6          8

      M Prof |        96           6      .3199161            5          7

       total |       568           7      .2951147            7          8

. stci , p(75) by(sex field)

         failure _d:  promoted

   analysis time _t:  ttofull

sex          |    no. of 

field        |  subjects         75%     Std. Err.     [95% Conf. Interval]

      F Arts |        39          13      3.133376            7          .

     F Other |       117          13      .4372819           10          .

      F Prof |        14           .             .            .          .

      M Arts |        56           .             .           13          .

     M Other |       246          14      1.883266           11          .

      M Prof |        96           8      .8219208            7         11

       total |       568          13      1.198834           12          .

. stci , rmean by(sex field)

         failure _d:  promoted

   analysis time _t:  ttofull

sex          |    no. of  restricted

field        |  subjects        mean      Std. Err.    [95% Conf. Interval]

      F Arts |        39    8.809417(*)   .8490371      7.14533    10.4735

     F Other |       117    9.226391(*)   .5303893      8.18685    10.2659

      F Prof |        14    11.56566(*)   1.181524      9.24991    13.8814

      M Arts |        56    11.43076(*)   .8426922      9.77912    13.0824

     M Other |       246    9.182885(*)   .4156886      8.36815    9.99762

      M Prof |        96    7.050682(*)   .4502104      6.16829    7.93308

       total |       568    9.308889(*)   .2751578      8.76959    9.84819

(*) largest observed analysis time is censored, mean is underestimated

#### Generating indicator statistics for problem 3 (I chose to dichotomize the continuous variables)

. g assoc85 = fstAssoc

(11235 missing values generated)

. recode assoc85 min/85=0 85/max=1

(assoc85: 8557 changes made)

. g degree80 = yrdeg

. recode degree80 min/80=0 80/max=1

(degree80: 19792 changes made)

#### Descriptive statistics for probability of remaining unpromoted: by time of degree

. sts list, by(sex degree80) at(4 5 6)

         failure _d:  promoted

   analysis time _t:  ttofull

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

F degree80=0 

       4        88        5              0.9459    0.0236     0.8747    0.9771

       5        82       11              0.8190    0.0410     0.7214    0.8850

       6        67       11              0.6845    0.0505     0.5740    0.7720

F degree80=1 

       4        37        3              0.9189    0.0449     0.7693    0.9731

       5        25        3              0.8086    0.0716     0.6183    0.9104

       6        16        4              0.6065    0.1027     0.3787    0.7730

M degree80=0 

       4       249       45              0.8292    0.0232     0.7781    0.8696

       5       214       36              0.6897    0.0287     0.6297    0.7421

       6       176       31              0.5683    0.0308     0.5055    0.6261

M degree80=1 

       4        71       25              0.7100    0.0494     0.6006    0.7945

       5        41        9              0.5542    0.0599     0.4294    0.6622

       6        17        4              0.4238    0.0732     0.2799    0.5605

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. sts graph, by(sex degree80) plot1opts(lcol(black) lp(solid)) plot2opts(lcol(blue) lp(solid)) plot3opts

> (lcol(black) lp(dash)) plot4opts(lcol(blue) lp(dash)) risktable

         failure _d:  promoted

   analysis time _t:  ttofull

. stci, by(sex degree80) rmean

         failure _d:  promoted

   analysis time _t:  ttofull

sex          |    no. of  restricted

degree80     |  subjects        mean      Std. Err.    [95% Conf. Interval]

         F 0 |       100    9.752436(*)   .4994889      8.77346    10.7314

         F 1 |        70    6.561486(*)   .2358546      6.09922    7.02375

         M 0 |       268    9.371049(*)   .3462287      8.69245    10.0496

         M 1 |       130    5.881255(*)   .2272797      5.43579    6.32671

       total |       568    9.308889(*)   .2751578      8.76959    9.84819

(*) largest observed analysis time is censored, mean is underestimated

#### Descriptive statistics for probability of remaining unpromoted: by time promoted to associate

. sts list, by(sex assoc85) at(4 5 6)

         failure _d:  promoted

   analysis time _t:  ttofull

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. Int.]

F assoc85=0 

       4        66        3              0.9552    0.0253     0.8676    0.9853

       5        64        9              0.8209    0.0468     0.7062    0.8941

       6        55        9              0.6866    0.0567     0.5609    0.7830

F assoc85=1 

       4        59        5              0.9220    0.0339     0.8208    0.9671

       5        43        5              0.8148    0.0541     0.6792    0.8972

       6        28        6              0.6402    0.0762     0.4713    0.7676

M assoc85=0 

       4       187       36              0.8182    0.0274     0.7570    0.8653

       5       162       33              0.6515    0.0339     0.5807    0.7133

       6       129       23              0.5354    0.0354     0.4635    0.6019

M assoc85=1 

       4       133       34              0.7762    0.0340     0.7009    0.8348

       5        93       12              0.6761    0.0400     0.5906    0.7475

       6        64       12              0.5493    0.0463     0.4541    0.6347

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. stci, by(sex assoc85) rmean

         failure _d:  promoted

   analysis time _t:  ttofull

sex          |    no. of  restricted

assoc85      |  subjects        mean      Std. Err.    [95% Conf. Interval]

         F 0 |        67    9.880597(*)   .5429182       8.8165    10.9447

         F 1 |       103    6.985063(*)   .2618851      6.47178    7.49835

         M 0 |       198    9.065977(*)   .3774158      8.32626     9.8057

         M 1 |       200    6.804171(*)   .1958994      6.42022    7.18813

       total |       568    9.308889(*)   .2751578      8.76959    9.84819

(*) largest observed analysis time is censored, mean is underestimated

. sts graph, by(sex assoc85) plot1opts(lcol(black) lp(solid)) plot2opts(lcol(blue) lp(solid)) plot3opts(

> lcol(black) lp(dash)) plot4opts(lcol(blue) lp(dash)) risktable

         failure _d:  promoted

   analysis time _t:  ttofull

#### Getting correlations for problem 4. I also look at variances, slopes, and residual errors within sex

#### groups and produce a stratified scatterplot with lowess curves

. corr startyr salary if year==95

(obs=1597
             |  startyr   salary

     startyr |   1.0000

      salary |  -0.3435   1.0000

. bysort sex: corr startyr salary if year==95

--------------------------------------------------------------------------------------------------------

-> sex = F

(obs=409)

             |  startyr   salary

     startyr |   1.0000

      salary |  -0.4034   1.0000

--------------------------------------------------------------------------------------------------------

-> sex = M

(obs=1188)

             |  startyr   salary

     startyr |   1.0000

      salary |  -0.2706   1.0000

. regress salary startyr if year==95

      Source |       SS       df       MS              Number of obs =    1597

-------------+------------------------------           F(  1,  1595) =  213.43

       Model |   781407281     1   781407281           Prob > F      =  0.0000

    Residual |  5.8395e+09  1595  3661133.64           R-squared     =  0.1180

-------------+------------------------------           Adj R-squared =  0.1175

       Total |  6.6209e+09  1596  4148443.26           Root MSE      =  1913.4

------------------------------------------------------------------------------

      salary |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

     startyr |  -70.01917   4.792764   -14.61   0.000    -79.41995   -60.61839

       _cons |   12069.47   391.7064    30.81   0.000     11301.16    12837.79

------------------------------------------------------------------------------

. bysort sex: regress salary startyr if year==95

--------------------------------------------------------------------------------------------------------

-> sex = F

      Source |       SS       df       MS              Number of obs =     409

-------------+------------------------------           F(  1,   407) =   79.12

       Model |   145699113     1   145699113           Prob > F      =  0.0000

    Residual |   749456078   407  1841415.42           R-squared     =  0.1628

-------------+------------------------------           Adj R-squared =  0.1607

       Total |   895155190   408  2194007.82           Root MSE      =    1357

------------------------------------------------------------------------------

      salary |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

     startyr |    -74.507   8.376151    -8.90   0.000    -90.97291   -58.04108

       _cons |   11765.34   719.0832    16.36   0.000     10351.76    13178.92

------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

-> sex = M

      Source |       SS       df       MS              Number of obs =    1188

-------------+------------------------------           F(  1,  1186) =   93.73

       Model |   379659706     1   379659706           Prob > F      =  0.0000

    Residual |  4.8041e+09  1186  4050650.42           R-squared     =  0.0732

-------------+------------------------------           Adj R-squared =  0.0725

       Total |  5.1837e+09  1187  4367086.02           Root MSE      =  2012.6

------------------------------------------------------------------------------

      salary |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

     startyr |  -55.62717   5.745822    -9.68   0.000    -66.90028   -44.35407

       _cons |   11160.42   461.1671    24.20   0.000     10255.62    12065.21

------------------------------------------------------------------------------

. tabstat startyr if year==95, by(sex) stat(n mean sd min q max) col(stat) long

sex           variable |         N      mean        sd       min       p25       p50       p75       max

F              startyr |       409  85.47433  8.020498        57        80        88        92        95

M              startyr |      1188  79.61532  10.16681        48        71        80        89        95

Total          startyr |      1597  81.11584  9.993217        48        73        83        90        95

. twoway (scatter salary startyr if year==95 & sex=="M", jitter(1) col(blue)) (lowess salary startyr if 

> year==95 & sex=="M", col(blue))  (scatter salary startyr if year==95 & sex=="F", jitter(1) col(pink)) 

> (lowess salary startyr if year==95 & sex=="F", col(pink))

. log close

      name:  <unnamed>

       log:  z:documents/teach/courses/b517/f12/hw4Stata.log

  log type:  text

 closed on:  29 Oct 2012, 07:46:41

--------------------------------------------------------------------------------------------------------

